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Question 1- p2= 181 +065 * 0
q2 —26q+ 169 =0 30

E- p=q or relation cant be
established
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: ;; |
p2—11p+24=0

-

©SBI| Question 2-
Py (F V) q2+4q-12=0
iﬁ( G+2 > _A-p>q

B- p<q
/iP 3 7\ C-p=q

E- p=q or relation cant be
established
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~ Question 3- 3p + 18 =50 = 5q

p2=16

30p- ¢
ﬁ < CL A- P =>q
B-p<q
Pgg ===
5141) —— D- p=q
E- p=q or relation cant be
established
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Question4- p2+2p—-3=0

q2+6q+8=0

A-p>q

B-p<q

C-p<q

D- p=q

E=P=q or relation cant be
established
30
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(/ | by Qfestion 5- Quantity A: In mixture of alcohal and water, the

ﬁ] f O water 1s only(10%then find amount of water to be added to make
; . =
j . [ Q) water concentration [S_OA) 207,
Ve | Quantity B: In a & L mixture of A and B, th@ly 2% then find
30 amount of B to be added to make B concentration 30%

JH>10= Lol T 5- | A: 3Teshied 3 I o6 40 et foeror |, 9t sheret 10% @,
=y A R EIEAT 50% S o fore ar S w4 i it
&:Lf)(-& HHT B: A 3T B & 140 TieX {0201 4, B shaet 20% &, AT B Al QigdT &l

=32 [ 30% S % foTu B Y AT 91 hifer

~ :

s &L = = =8 a N 35= | L‘OL.Qua ity A > QuantltyB
S (= 4L B1.Quantity A < Quantity

https://t.me/mathbytarunsirmepl Lj X KAty . ' .
30\/' -3 :‘1 % >+S‘ s B2.Quantity A 2> Quantity
o — B3.Quantity A < Quantity

-~/ B4.Quantity A = Quantity B
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Question 6- The number of female from villages O 1s how much

percentage more/less than number of female from villages Q ?

I 6- TMa O T HfgATsTl hl T, Tid - Q sht Afgars shl st & fohdd

TereTa SAfereh/a 82 | Loy
formale 0= 60+, o U600 | =22 xlog
/o gf 6600 30
- = e H
bmly ()= 60%31/1000 Al | - = 12&7 A-E.;"/A)
2 B- 3.6%
= 6600 < | | C-6 %

D-13% -
\E=one of these
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Question 7- Find the average number female in M,N, O, P ,Q

9% 7- M, N, O, P, Q & Hfectraii st sied T J1a shive

30
= 4320 %A f
Sor 27 A-1900
= O = 5072  B-2100
= Hos7 o = C- 2300
+ 66 o o / D- 4400
= ~ E-n f these
25 | 6(‘) \_-noene ot these
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( Question 8- What is the ratio of postgraduate population in M and N

T 8- M 3T N H HIqehITR SHEEIT 1 O R P H HIdeh o ST ﬁ

l 00,

+S)¢&eoa)

A-21:23
B- 23:27
C-11:17
D- 26:75
L—¥-none of these
.5606

&OO @)
(O'G QO S

30

ﬁj] ~ tothe ratio of graduate in O and P,
AT T 22
PG (/)7+/V) & (OﬁD)~
481 50
Rag - (0645(}5
¥ =
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( Question 9- Marked price of a an article is Rs 9600. The shopkeeper
m\/ offered a discount of 20% and gained 40%. If no discount 1s allowed,

find his gain percentage
T 9- Teh ST ohl Jifehel e 9600 T & FHMHAR T 20% hl HT & AN

40% T AT STH TohT. Ffd 1S B L a1 SITd! &, T SEehT AT Tferd
FIGEIISE]

K= (P P B = _L
1107:—2@ | 1 M Spp A 60%

6\7 i e o B- 70%
i T / ;éoﬂ@b C-20%

2§ 3s = ¥5¢ D- 100%
w E- none of these
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Question 10- p2 +12p +35=0

’ q2+17q+72=0
) et = 30

= AD>q
B-p<q
C-p<q
D- p=q
E- p=q or relation cant be
established
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Question 11- What approximate value should come in the place of

question mark (?) in the following question?
[ETTRET 5 | 939 T<0@ (?) o U 9L STAT H T ST =M

\255.9 +>@ 2+ 11.11

' —A=50
_IR56 ‘{"JSA?}:lJ&-H B- 60
/6 T | C-70
ShC s o =
== J)0 E- 35

e 30
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Question 12- What approximate value should come 1n the place of

question mark (?) in the following question?
[ TCTRET S5 | 21 T<1@ (?) o T T STHTHT HI sl ST %m%w
401.11 +20.01% of 1125 —30.01% of 5399 =?

) = 225

4 = 14004%?0/ g[—#%s 30/215%@ A 1245
= kS0 jop B- 2245
C- 1345
= Gaas 620 _ D- 1867
= =08 E- &5 - 79
= 30 —
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| Question 13- What approximate should come at the place of ‘?’ in the
m following question?

(A TCTRET S5 | 57 i@ 2 o ST O ol STHTIG STHT =I180?
V14399 X V8101 - (60)2 = 2 + (80)

108%% S
' B- 800
R C- 1200
| D- 600
30 \_E-nene of these
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, Question 14- What approximate should come at the place of ‘?’ in the
m | following question? ‘
A TTRErT 5 | 927 i 2" o ST 92 SFT STHTIG STHT 1802
786 T 1/3 — 1032 T 11/8 =2 - 528 H U 13/4
1/3 of 786 — 11/8 of 1032 =? — 13/4 of 528

262 129
L SEpees e
i e e A- 235
AT A
ljj(’ 262\, ' B-119
262 ”\3=J\|Hg 30 €= 559
@ Xz 261*'ql%+($(g D- 459
J = Sy E- 789
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Question 15- In a town the ratio of men, women and children1s 9 : 8 :
3. 60% men are literate and 40% women are 1lliterate. If 80% of
children are literate, then the percentage 0 that town 1s-
Teh I § TENT, Higerradl 3T sl o 31991 9: 8: 3 = 60% T&Y |1&R &
3 40% ARATT, & & ATE 80% o< AT& &, Al 36 I hl HT&HT

gfeTe oI 22
&b =210 xiop
=< =0gg A- 8%
305 - Qog - %o = Es -
- \ O = 3?7 B- 12%
% L\O‘/. \QOX e C-5.5%
_3_60 .' —329 ' gQ D- 20%
e L/E-/nonc of these
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